AT

AUTOGRIP MACHINERY

TK

e A B o ZE B 38 M R ]
B PZEE | SRS

HBRE - RALRBLEEREE - S RERMKEN2/3 -
- NEP IER B BRI ERE -
F ZERGFOREREE Z -

+ A

AR

= O =0

FEon—+73

o LG .
L e [ /=

PAT.M491534 5% | A[E : PAT.ZL201420584274.5 5%

EEE -3 SEEE-RI ST IELE meERAEN SothiEE
cm? 114 min”(r.p.m.) MPa(kgf/cm?) lit./min
TK-A528 73 69.7 12 8000 4.5 (45) 0.012 6.2 3
TK-A533 73 69.7 12 8000 4.5 (45) 0.012 6 3
TK-C643 99.] 88.0 15 7000 4.5 (45) 0.018 75 3
TK-A646 105.0 93.9 15 7000 45 (45) 0.018 7.3 3
TK-B646 105.0 93.9 15 7000 4.5 (45) 0.018 8.6 3
TK-C646 9911 88.0 15 7000 4.5 (45) 0.018 75 3
TK-B846 135.3 125.0 20 6300 4.5 (45) 0.032 12.4 3.9
TK-A853 135.3 125.0 20 6300 4.5 (45) 0.032 1.8 3.9
TK-B853 135.3 125.0 20 6300 4.5(45) 0.032 1.7 3.9
TK-A1068 170.1 155.3 25 5500 4.5(45) 0.065 19.2 4.2
TK-A1075 170.0 155.0 25 5500 4.5(45) 0.065 18.8 42
TK-A1078 170.1 155.3 25 5500 4.5(45) 0.065 17.4 4.2
TK-A1287 234 217.5 30 3800 4.0 (40) 0.092 24.8 45
TK-A1291 234 217.5 30 3800 4.0 (40) 0.092 24.8 45
TK-A1511 336.4 315.2 30 3000 3.5(35) 0.38 57.9 7
TK-A1512 336.4 315.2 30 3000 3.5(35) 0.38 53.8 7
TK-2114 373.2 336.] 35 2500 3.0 (30) 0.54 58.2 8
TK-2416 418.4 375.4 35 2000 3.0 (30) 112 78 9
TK-2416L 418.4 375.4 51 2000 3.0 (30) 1.31 79.2 9
TK-2820 526.2 4726 51 1600 3.0 (30) 2.4 134 10
K~
Q1 P
6~X2 25 = = -t 6~L1
N1 T - “ i
& ]
l :f’. 1 ‘
| o9 I ool Na| vz |5 f
S S o 9o § TNl (S | uw w Qo Q m
O' [ ] Q 8 8 (O] 50 f . A \Q M-?"‘Mz- Q Q (O] N [N
! : = LT ' i m— 1
e ort % '
B ~ N\ M1 !
2x2~Q3 ; '
g \ 4 N ,
i 4~Y2 L
| ot
‘ ) Ll
$ N O S ' 1 L H =l G1
RC1" MUBA , G2
T~ J
biid AlTe O K

TREE B E R

I e 2 2 P K e A
TK-AH28 105 141 125 125 110 45 12 0 32 20 49 775 123 6~M8x20 M8x55 14 M38xl6 25 13 M39xl5 25 8 35 28 79 85 30 RCl/4 37 62 70 98 6 62 1M 49 M6x6 83 Mbx6
TK-AB33 105 141 125 125 110 45 12 0 32 20 49 775 123 6~M10x20 M8xbb 14 M38xlb 25 13 M39xlb 25 8 35 33 79 85 30 RCl/4 37 62 70 98 6 62 1M 49 M6x6 83 MDbx6
TK-C643 128 156 140 140 120 65 15 0 44 29 56 85 125 12~M10x20 M8x60 12 MbOx2 25 13 Mb2x15 29 9 45 43 87 85 36 RC3/8 50 76 85 16 95 74 120 64 M6XI0 98 MbxE6
TK-ABG46 128 162 147 147 130 65 15 0 44 29 56 85 125  12~M10x20 M8x60 12 MBbx2 25 13 Mb2xlb 29 9 50 46 87 85 36 RC3/8 50 76 85 116 95 74 120 64 M6XI0 98 MbHx6
TK-B646 128 162 130 147 100 65 15 0 44 29 66 95 135  12~M10x20 M8x70 12 Mbbx2 30 15 Mb2xl5 29 9 50 46 97 85 36 RC3/8 50 76 85 16 95 74 120 64 M6XI0 98 MbxE
TK-C646 125 156 140 140 120 65 15 0 44 29 56 85 125 12~M10x20 M8x60 12 Mbbx2 25 13 MbH2x15 29 9 50 46 87 85 36 RC3/8 50 76 85 116 95 74 120 64 M6XI0 98 MbXE
TK-B846 145 185 170 165 130 70 20 0 48 28 66 95 135 12~M10x20 M8x70 12 Mbbx2 30 15 MB8xl5 30 8 50 46 97 85 36 RC3/8 56 85 96 128 115 79 130 73 M6x12 110 M6x6
TK-A853 145 185 170 165 140 70 20 0 48 28 66 95 135 12~M10x20 M8x70 12 MB60x2 30 1o Mb8xlb 30 8 bb b3 97 85 36 RC3/8 56 85 96 128 11.b 79 130 73 M6x12 110 MO6XE
TK-B853 145 185 170 165 130 70 20 0 48 28 66 9b 136 12~M10x20 M8x70 12 MB0x2 30 15 MbB8xlb 30 8 55 53 97 85 36 RC3/8 56 85 96 128 11.b 79 130 73 M6x12 110 M6x6
TK-A1068 170 212 190 190 160 95 25 0 50 25 74 108 158 12~M10x20 MIOx80 16 M75x2 35 15 M84x2 34 9 70 68 110 12 40 RCI1/2 81 108 121 164 10 98 160 98 M6x12 155 M6xX8
TK-A1075 170 212 190 190 160 95 25 0 50 25 74 108 158 12~M10x20 MIOx80 16 M85x2 35 15 M84x2 34 9 80 75 110 12 40 RCI1/2 81 108 121 164 10 98 160 98 M6x12 155 M6X8
TK-A1078 170 212 190 190 160 95 25 0 50 25 74 108 158 12~M10x20 MI0Ox80 16 M87x2 35 15 M84x2 34 9 82 78 110 12 40 RCI1/2 81 108 121 164 10 98 160 98 M6x12 155 M6xX8
TK-A1287 200 245 215 225 180 110 30 0 59 29 86 126 184  12~M12x24 MI0Ox90 145 M95x2 35 15 M9O9x2 38 9 90 87 1275 15 45 RCI/2 96 120 138 180 7 110 185 108 M6XI0 165 M6XIC
TK-A1291 200 245 215 225 180 110 30 0 59 29 86 126 184 12~M12x24 MI10x90 145 MI00x2 35 15 M99x2 38 9 95 91 1275 15 45 RCI/2 96 120 138 180 7 110 185 108 M6X1I0 165 M6XIC
TK-A1511 250 300 275 275 230 140 30 0 58 28 102 156 226 12~M16x36 MI2x110 21 M120x2 45 15 MI29x2 38 9 115 110 15375 17 50 RCI/2 126 150 170 227 7 134 210 138 M6x10 210 M6x9
TK-Al1512 250 300 275 275 230 140 30 0 58 28 102 156 226  12~MI16x36 MI2x110 21 MI30x2 45 15 MI29x2 38 9 125 120 15375 17 50 RCI/2 126 150 170 227 7 134 210 138 M6X10 210 M6xS
TK-2114 265 320 295 295 240 165 35 0 60 25 N5 1735 2475 12~M16x32 MI12x120 175 Mibbx2 45 20 MI149x2 38 9 145 140 170 17 50 RCI/2 146 170 190 250 7 145 210 160 M6x10 230 M6XIC
TK-2416 290 340 300 - 260 190 35 0 60 25 129 1855 275 M16x32 - - MI180x3 45 20 MI174x2 38 - 170 166 1865 20 50 RCI1/2 171 202 220 292 7 167 250 188 M6xI1 260 M6XIZ
TK-2416L 290 340 300 - 260 190 51 0 76 25 145 2015 291 M16x32 - - MI80x3 45 20 MI74x2 b2 - 170 166 2025 20 50 RCI/2 171 202 220 292 7 167 260 188 M6XxI11 260 M6XI:
TK-2820 340 395 360 - 320 235 5] 0 76 25 152 2125 316 M20x40 - - M220x3 45 20 M218x2 b2 - 210 205 216 21 50 RCI/2 215 262 285 360 7 2025 300 240 M6x12 320 M6XIZ

WWW.AUTOGRIP-MACHINERY.COM AUTOC


https://www.autogrip-machinery.com/proimages/products/Rotary-Cylinders/Thru-Hole/TK/TK_01_img.jpg

